N of associated (recoToSim) looper tracks vs normalized x*

| N of associated (recoToSim) tracks vs normalized x?

[N of reco track vs normalized x2 ]

9] 1%} F 123 0
x x < x
Q Q o (5]
g g g g
= = S z
£ s 8
=
=]
. 3
10°F
10F
=] =] S
© | T g
o LEELLL L FO T E R S o 14
O HIATETTEITHTIETTRTT AT
O'TJ 2 4 6 8 10 12 14 16 18 20 0"0 2 4 6 8 10 12 14 16 18 20 0'“() 2 4 6 8 10 12 14 16 18 20 O'D 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
T PO XoS—oTgTa—toWpt
[(Noremoracks | ——— BRV-SIMim S hewbranch-|owBBEESSmvACand =
2] 2] 0
] o] S
g g 8
() Q
8 5
3
=3
o
[=) =] 5
K 3 o o o o
o 14 2 2 2 2
0. o o . .




	Contents
	Page 1


